3, UbOP{ERITHONT

ZHEHOME | RS

MSEH U 288308 /8 +H A4 42F20.002m 7L + TAA0.2ng /L DESHIT. 13V EEE
A1EREES . ESERERE -1

BAD 4 HFHRPS | BHOERSEE I DL £, MSEHICL £ 307 /L £,
AU TAA, RUDNT Ty A4 3T ESERETRATTRML LEHICEEL ko
1) BER#6 0 BB, IZWEEENLHE. b4 FF0.002m 7 £, TAA0.2m 7 £ DAL

COBMT, HVREFFIPL P SEEERS Al
0 ZOROEEE BRI S BEL T 5, BRI S m. REK 2 0 mO Ll

MEDBERE iz,

@) YHPEEOBEEL THIEL 272D, EEEPEPEELNL D - 2,
BE1HR HEHOBEHEANLRA - BOEEORERE

. ~i ! A I % %
AP iy AA | % xp mm 4% mE® HN BE
LT - S Bh ms MEHE
0.2 -— 0.2 587 10 1.7 4] ] Q 0
002 - 0.2 - 552 0 0 o - 0 0 0
0002 - 02 §565° 4] 0 1 0.2 1 0.2
00002 - 0.2 521 -0 '] 4] 0 0 ¢]
02 - 1.0 532 [}] [i] ‘0 ‘U 0 [}
002 - 1.0 534 4] i} 0 0 Q0 4]
Qoo02 - 1.0 . 503 . [« Q -0 0 Q 4]
00002 - 1.0 --| 508 - { - 0 -0 0- -0 0
0.2 - 20 4949 0 [i] g 0 [1] [+]
002 - 20 492 0 4} (4] 0 Q0 L#]
0002 - 20 537 [} ] 0 0 0 ]
00002 - 20 558 0 . 0 [}] 0 0 0
02 - 3.0 536 2 0.4 [i] 0 [)] 0
002 _— 3.0 1 8519 -0 1 0 - 0 Q 0
002 -_ 3.0 ' 545 0 Q 0 0 Q Q
00002 — 3.0 602 0 [+ 0 0 0 0
- 02 - - - 02 £30- -0 [1] [ D 0 Q- 1]
- 002 .2 584 Q0 0 [t} 0 Q 0
- 0o02 0z 623 0 4] g 0 0 ]
— 0.0002 0.2 581 0 Q Q 0 [+} 0
= 0.2 0.02 5500 0 o 0 0 0
- 002 002 573 0 0 0 0 @ 0
- 0002 002 619 0 Q g . 0 4] 0
-_ 00002 002 621 0 0 0 -0 4] 0
- 0.2 0002 616 0. [i] [i] 0 [+] 1]
- Q.02 0002 5786 0 0 v} 0 4] 0
- 0002 0002 556 0 [H 1] 0 - a 1]
- 0.0002 0.002 564 Q 4] 0. 0 0 1]
- 2.2 00002 558 [V] [] Q 0 [i] 0
-_ 0.02 000602 597 0 0 Q0 0 0 . i}
- 0002 0.0002 611 [+] 1] Q -0 B ]
- 00002 00002 634 Q Ji] 1] o0 [+ ) .

(FH 6 0 BRI

ST HER S i

p




